Multiplying a Monomial by a Binomial (D)

Ut

6.

9.

Simplify each expression.

- — 4w’ (w — 4)

—6a*(7a® — 3a*)

AR (—4K + 6k?)

- 9¢°(—8¢° — 7g")

—Th(2h — 5)

2w (Tw? + 4w)

. —57“(27“5 + 97“4)

- —Tm(2m* + 2m?)

—n*(—=2n* — 5n)

10, —k3(—2k* — 4k3)
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Multiplying a Monomial by a Binomial (D) Answers

Ut

6.

8.

9.

- — 4w’ (w — 4)

= —4w* + 16w°

—6a*(7a® — 3a*)
— —42a" +184°

4K (—4K? + 6k7)

— —16k° + 24K°

99°(—89° — 7g")
= —72¢'% — 63¢°

—T7h(2h — 5)
— —14h% + 35h

2w (Tw? + dw)
= 14w® + Sw?

. —57“(27“5 + 97“4)

= —10r% — 45¢°

—7m(2m* + 2m?)
= —14m’ — 14m*

—n*(—2n* — 5n)
= 2n° + 5n°

10, —k3(—2K* — 4k%)

= 2k" + 4k°

Simplify each expression.
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